Efficiency vs hit

0 0.0;
018F
016F

it:

ffigiengy vg,hi
S o
2
ey

=3
o
2
N

0.01F---- -
0.008
0.006f
0.004F

Feeean

0.002F

Ratio
"
o

30 35 40
TP hits

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc|] —— DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom

 0.0]
[
.009)

o
o
o
a1
T T[T [T T [T [T P o
T T T T T T T T T

10 12 14 16 18 20 22 24
TP layers

Efficiency vs pixel layer
0 0.02p

018
016F
o014F
o012F

0.01
008F
0.006
0.004
0.002

_C,efficier_zgy ) pigl Igye

Ratio

0O 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

 0.0]
.009
008
007,

o
o
o1
T T[T T T T[T T T T
T T T T T T T T T

0'”() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


